

Q.1) Given $A = \begin{pmatrix} 1 & 2 \\ 3 & 4 \end{pmatrix}$
 inverse of $A = \frac{1}{\det(A)} \text{adj}(A)$
 $\det(A) = 1(4) - 2(3) = 4 - 6 = -2$
 $\text{adj}(A) = \begin{pmatrix} 4 & -2 \\ -3 & 1 \end{pmatrix}$
 $\text{inverse of } A = \frac{1}{-2} \begin{pmatrix} 4 & -2 \\ -3 & 1 \end{pmatrix} = \begin{pmatrix} -2 & 1 \\ 1.5 & -0.5 \end{pmatrix}$

(1) $y = 2x^2$ at point $(3, 2)$

(2) The equation of tangent

$$\frac{dy}{dx} = 4x$$

$$m_1 = \frac{dy}{dx} \Big|_{x=3} = 12$$

$$m_1 = 4(3) = 12$$

$$y - y_1 = m_1(x - x_1)$$

$$y - 2 = 12(x - 3)$$

$$y - 2 = 12x - 36$$

$$y - 12x + 34 = 0 \text{ is the equation of tangent}$$

(3) The equation of normal

$$m_2 = -\frac{1}{m_1} = -\frac{1}{12}$$

$$y - y_1 = m_2(x - x_1)$$

$$y - 2 = -\frac{1}{12}(x - 3)$$

$$12(y - 2) = -(x - 3)$$

$$12y - 24 = -x + 3$$

$$12y + x - 27 = 0 \text{ is the equation of normal}$$

(4) $y = 2x^2 - 2x + 4$ at the

Q.2) Given $A = \begin{pmatrix} 1 & 2 \\ 3 & 4 \end{pmatrix}$

$\det(A) = 1(4) - 2(3) = 4 - 6 = -2$

$\text{adj}(A) = \begin{pmatrix} 4 & -2 \\ -3 & 1 \end{pmatrix}$

$\text{inverse of } A = \frac{1}{-2} \begin{pmatrix} 4 & -2 \\ -3 & 1 \end{pmatrix} = \begin{pmatrix} -2 & 1 \\ 1.5 & -0.5 \end{pmatrix}$

(1) Equation of the normal is $12y + x - 27 = 0$

$$12(y - 2) = -(x - 3)$$

$$12y - 24 = -x + 3$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

(2) $y = 2x^2 - 2x + 4$ at the

(3) The equation of normal

$$m_2 = -\frac{1}{m_1} = -\frac{1}{12}$$

$$y - y_1 = m_2(x - x_1)$$

$$y - 2 = -\frac{1}{12}(x - 3)$$

$$12(y - 2) = -(x - 3)$$

$$12y - 24 = -x + 3$$

$$12y + x - 27 = 0 \text{ is the equation of normal}$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

$$12y + x - 27 = 0$$

Q1) The equation of normal
 $m_1 \cdot m_2 = -1$
 $m_2 = \frac{1}{m_1}$

$y - y_1 = m(x - x_1)$
 $y - 2 = \frac{1}{-2}(x - 2)$
 $y - 2 = -\frac{1}{2}(x - 2)$

$2(y - 2) = -(x - 2)$
 $2y - 4 = -x + 2$
 $x + 2y - 6 = 0$ is equation of normal

Q2) The equation of normal
 $m_1 \cdot m_2 = -1$
 $m_2 = \frac{1}{m_1}$

$y - y_1 = m(x - x_1)$
 $y - 3 = \frac{1}{-2}(x - 2)$
 $y - 3 = -\frac{1}{2}(x - 2)$

Q3) The equation of normal
 $m_1 \cdot m_2 = -1$
 $m_2 = \frac{1}{m_1}$

$y - y_1 = m(x - x_1)$
 $y - 1 = \frac{1}{-2}(x - 2)$
 $y - 1 = -\frac{1}{2}(x - 2)$

Q1) The equation of normal
 $m_1 \cdot m_2 = -1$
 $m_2 = \frac{1}{m_1}$

$y - y_1 = m(x - x_1)$
 $y - 2 = \frac{1}{-2}(x - 2)$
 $y - 2 = -\frac{1}{2}(x - 2)$

$2(y - 2) = -(x - 2)$
 $2y - 4 = -x + 2$
 $x + 2y - 6 = 0$ is equation of normal

Q2) The equation of normal
 $m_1 \cdot m_2 = -1$
 $m_2 = \frac{1}{m_1}$

$y - y_1 = m(x - x_1)$
 $y - 3 = \frac{1}{-2}(x - 2)$
 $y - 3 = -\frac{1}{2}(x - 2)$

Q3) The equation of normal
 $m_1 \cdot m_2 = -1$
 $m_2 = \frac{1}{m_1}$

$y - y_1 = m(x - x_1)$
 $y - 1 = \frac{1}{-2}(x - 2)$
 $y - 1 = -\frac{1}{2}(x - 2)$